TAMPA VIS, 450 MM PD SHELL MOD. 1

Assinuilre.

Aprawasio por

Tozta
171172005 drd Stein e Frangd(al: WA o do,——

LE FRLUFRLELAUE LA

METACAL IND, METALURGICA LTDA —

LIMEIRA SPA0XX19> 3441-221t
PROIEIDA & REPRODUCED

LESENFL

CODIGO: M1.014.450.005
Wetacal|==c] oo
vty UESENHISTA: | Anfbal P.Jr
ITEM| QTD DESCRICAQ CODIGO
o1 a1 |PARAF.SEXT.1/2"x2.3/4" | M3006.001.013
a2 01 |BRACO MAIOR T.V.MODII | M2.014.008.00c
032 | of [MOLA 8x152 T.VIS.MODII M2.014.011.002
04 Q1 | TRAVA TAMP.VISMODII |M2.014.003.00:
05 | 01 |ANEL VEDMEN. T.V.MII |M3.008.000.02¢
06 | 01 [TAMPA MENOR T.V.MOD.II|M2.014.002.00¢
07 | 01 |PINO 3/8°x 122 T.VIS. | M3.014.009.00%
08 | 01 |CORPO MAIOR T.V.MII | M2.014.001002
g9 01 |ANEL VEDMAIOR T.V.M.II\M3.008.000.02%
10 o1 |PINO 3/78'x 78 T.VIS. |M2.014.009.00¢
11 | 0f |PORCA SEX.5/16° ZINC. | M3.007.000.001
12 | 02 |CHAPA I DOBR.T.V.MII | M2.014.008.00%
13 o1 [PINO 378°% 93 T.VIS | M2.014.009.005
14 | o1 |PINO 3/8°x 117 T.VIiS. |M2.014.005.004
15 06 |PINO ELASTICH 6x30 M32.010.000.00F
16 | 03 |PINO ELASTICO 6x36 | M3.010.000.005
17 | 09 |GARRA FUROS/16°T.V.M.II| M2.014.013.00¢
18 9 |[ESTIRANTE TANMF.VIK. M2.014.012.001
19 09 |ARRUELA LISA 5716°ZC. | M3.011.001.004
Trata DheorigSo das alieragites

E7 /1 /P00




